We are so happy you chose a
hama product.

Enjoy using it!

nama ==



Quick Installation Guide B Drilling the holes

Required tools

Mounting on backside \i 10 Adjustment & Fixing \i
of the TV

RIS N R

Installation kit

[;:“;Z?iD 6x60 (x4) m @mmm M8x12 (x4)
A2[SS=—= ST NG D fff M8x20 (xd) ez
@ M6 (x4) @ @mmmmmmm M8x30 (x4)
El @ M6 (x4) m @mmmmmm MB8x50 (x4)
B2] ﬁ oexi0 (xa) B (= M4x12 (x4)
B3| E 08x20 (xa) [ (omwwmsw  max20 (xa)
(o M6X12 (x4) V4 (x)
@W M6x20 (x4)

60mm

Flat TV backside

CLDI,D4 El B A 22
(o + Q* M8X50 @85  MB8xd5(D4) ®_ Do you need

(s + = (s M rore help?

Curved TV backside
C2,D2,D4, E2 B1

G\\\\\\N&\\\\\\\\\\\W+@*+a Lid D*

il \/ :
D3. D4 B3 “ “ Scan OR or visit:
(o + (i ) % . support.hama.com/ A _
Y You do not need a washer for the D-screws “ ﬁ >< e L:::) @

Raccolta Carta




